Use the column method to find the answers!

24
Tom has 24 toy cars. He bought 32 more, how many toy + 32
cars does he have altogether?

Jon saw 45 boys and 44 girls at the park. How many children did Jon
see altogether? ¥ £95
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)

Jane's family drove 23 miles to see her grandparents and 23 @&,
miles back. How many miles did they drive in total? &0

Will scored 28 points in a board game and Pat scored 73
points, how many points did they score altogether? @

Tim collected 68 shells on a beach and Lucy collected 34, how many

did they collect in total? '



